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7.2 Alaki ellendllasok

Atmérd 14x2 16x2.25 16x2 | 18x2 | 20%2.5 | 20%2 26x3 32%3 A0%3.5 Sl 63x4.5 75x5 T
Présidom Egyenértékii csGhosszak
ok 90°-os 0,75 0,65 0,63 0,6 0,55 0,54 0,5 0,45 0,4 0,4 042 0.5 0,85
csdhajlitas
Kanyik 1,8 15 4 1,3 12 1.1 1,05 0,95 1,15 1,15 12 13 13
Tidom 15 1,3 12 0,9 0, 0,73 0, 0,58 0,55 0,65 0, 0,8 0,8
Tidom 1,65 16 1,53 15 15 144 14 13 12 12 13 13 14
Tidam 1,9 1 5, 1,45 1,3 1,25 12 11 1,3 13 A 15 1,5
Tolda 1 0,9 0,8 0,75 0,6 0,6 0,25 0,2 0,3 0,4 0,3 0,3 0,3
Pexal |¥6nydk i 0,7 0,65 0,6 0,4 0,3 0,3 0,3 0,3 0,3 0,3 0,3
Easy |Tidom 0.6 0,4 0,35 0,25 0,25 0,2 0,15 01 01 0,15 0,2 0,2
(PPSU  |Tidom 0,7 0.5 0,45 0.4 0.4 0,35 0,35 0,3 0,3 0,3 0,3 0,3
szoritohii|Tidom i 0.7 0,47 0.4 0.4 0.3 0.3 0,35 0,35 0,35 0.4 0.4
velyes) |Toldd 0,5 0.3 0,2 0,15 0,2 0,15 0,2 0,15 0,15 0,15 0,15 0,15
opre|20°os
- i csohajlitas
=3 ~ |Tidom
3 ridom 2
"_:‘-.II
Tidom
Toldd

Konydk
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